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DO A=—x—7,B=6x+70t &, ROXDfE% x ZHWTE 2 &\,
—~A—9B

@2 A=6x—5,B=—9%x+10t 2, XROKXDfE%E x THVTE LRI\,
7A+5B

@ A=—y+8,B=—2y—70L %, ROXOfE%E y EFACTELL IV,
2A+9B

@ A=—5s—2,B=4s—70 ¢ &, RORDfE%E s ZFHTE LRI W,
—8A—B

B A=5x+6,B=3x+50t %, RORDE% x ZHANTEZR IV,
—8A+7B

© A=5y—8,B=—9y+50, %, RORXDfEi% y xHVTEZL LRI,
—9A+2B
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A=—x—7,B=6x+70 ¢ %, XRORDflE%Z x ZHVTEZ LI\,
—~A—9B
—(—=x—7)—9(6x+7)

= x+7—54x—63
= —53x—56
—53x—56
A=6x—5,B=—9x+10 ¢t ¥, XOAXDfE% x THVTEZ &I,
7A+5B
7(6x—5)+5(—9x+1)
= 42x—35—45x+5
= —3x—30
—3x—30
A=—y+8,B=—2y—7T0 & & ROXDffix y THVTEXLRI W,
2A+9B
2(—y+8)+9(—2y—7)
= —2y+16—18y—63
= —20y—47
—20y—47
A=—5—2,B=4s—T7D L &, ROKXDEZ s T THEZ R I,
—8A—B
—8(—s5—2)—(4s—17)
= 8st+16—4s+7
= 4s+23
4s+23
A=5x+6,B=3x+50 & &, RORXDE% x ZHTEZ R I\,
—8A+7B
—8(5x+6)+7(3x+5)
— —40x—48+21x+35
- —19x—13
—19x—13

A=5y—8,B=—9y+50 &t ¥, ROKXDE% y EHTEZ R I\,
—9A+2B

—9(5y—8)+2(—9y+5)

—45y+72—18y+10

—63y+82

—63y+82




